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ELECTIVE COURSE : COMMERCE
ECO-10 : ELEMENTS OF COSTING

Time : 2 hours Maximum Marks : 50
(Weightage 70%)

Note : Attempt any two questions from section-A and any
two questions from section-B.

- SECTION-A
1. (a) State the advantages of cost accounting. 5,5

() How does marginal costing differ from
absorption costing. Explain.

2. (a) What do you mean by ABC analysis in 5,5
inventory management ?

(b) State the main features of Halsey Premium
Plan and show with the help of an example
how bonus is calculate under this plan.
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3. Write short notes on any two of the following :
(a) Bin Card
(b) Treatment of Interest on capital
(c)  List method of pricing the issue of materials

(d) Principles of Apportionment of common
factory overheads.
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SECTION-B

A factory produces a standard product. From
the following cost information, prepare the cost

select for the year ending March 31, 2008.

Rs.
Raw materials 20,000
Opening stock 1,70,000
Purchases 8,000
Closing stock 40,000
- Direct wages 20,000

v

Other direct expenses :

Factory overheads 100% of direct wages
Office overheads 10% of works cost
Selling expenses Rs. 4 per unit sold

Finished goods :

12, 3

Opening stock 1000 units (Rs. 32,000) produced
during the year 10,000 units closing stock 2000

units.

Also ascertain the selling price per unit so as to

yield a profit of 20% on selling price.
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5. Aproductis obtained after it passes through three
distinct processes. The following information was

obtained from the accounts for the month. 93 3
I II II1

Direct materials (Rs.) 52,000 39,600 59,240

Direct wages (Rs.) 40,000 60,000 80,000

Output during the

month units 1,900 1,680 1,500

Percentage of Normal

loss to input 5% 10% 15%

Value of scrap per unit Rs. 20 Rs.40 Rs. 50

2000 units of Rs. 30 each were introduced in the
process I. There was no stock of materials or
work-in-progress at the beginning or at the end
of the period. Production overheads are recovered
100% of direct wages. Prepare process Accounts,
and Abnormal Gain and Abnormal Loss
Accounts.

6. (a) Thecontract priceinrespect of a project was 6
Rs. 10,00,000. On 318t March, 2008 90% of
the work had been completed and certified.
The cost incurred upto 315t March 2008
amounted to Rs. 8,00,000. It was estimated
that another amount of Rs. 40,000 will have
to be incurred to complete the project. The
contracts paid 80% of the value certified.
Compute the project to be taken to profit
and loss Account for the year ending 315t
March, 2008.
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(b) From the following particulars, calculate : 5, 4
(i) The Economic Order Quantity and

(i) State the assumptions on which Role
is usually based.

Annual usage 8,000 units
Cost of material per unit Rs. 40
Cost of planning and :
receiving one order Rs. 200

Annual carrying cost of one 10% of the
unit : inventory value
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